
Math 152, Spring 2010, Formula Sheet for Exam 1

sin(0) = 0 ; sin(π/6) = 1/2 ; sin(π/4) =
√

2/2 ; sin(π/3) =
√

3/2 ; sin(π/2) = 1
cos(0) = 1 ; cos(π/6) =

√
3/2 ; cos(π/4) =

√
2/2 ; cos(π/3) = 1/2 ; cos(π/2) = 0

cos2 x+ sin2 x = 1 ; 1 + tan2 x = sec2 x ; 1 + cot2 x = csc2 x

sin(2x) = 2 sinx cosx ; cos(2x) = cos2 x− sin2 x

cos2 x =
1
2
(
1 + cos(2x)

)
; sin2 x =

1
2
(
1− cos(2x)

)
sinA cosB =

1
2

[sin(A−B) + sin(A+B)]

sinA sinB =
1
2

[cos(A−B)− cos(A+B)]

cosA cosB =
1
2

[cos(A−B) + cos(A+B)]

∫
secx dx = ln | secx+ tanx|+ C ;

∫
cscx dx = ln | cscx− cotx|+ C

If TN , MN , SN are the Trapezoidal, Midpoint and Simpson’s approximations, then

TN =
∆x
2

[f(x0) + 2f(x1) + 2f(x2) + · · ·+ 2f(xN−2) + 2f(xN−1) + f(xN )] ;

MN = ∆x[f(c1) + f(c2) + · · ·+ f(cN )] where cj = (xj−1 + xj)/2 ;

SN =
∆x
3

[f(x0) + 4f(x1) + 2f(x2) + 4f(x3) + · · ·+ 2f(xN−2) + 4f(xN−1) + f(xN )] .

If I =
∫ b
a
f(x) dx then:

|TN − I| ≤
K2(b− a)3

12N2
; |MN − I| ≤

K2(b− a)3

24N2
; |SN − I| ≤

K4(b− a)5

180N4
.


